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4 M B

The diagram shows a square ABCD.
Mis the midpoint of AB and N is the midpoint of CD.

(@) Complete the statement

The line M i the locus of points inside the square which are

() Shade the region inside the square containing points which are
nearer to AB than to BC and nearer to 4 than to B.

n

n
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The time in Lisbon is the same as the time in Funchal.
Aplane left Lisbon at 08 30 and arrived in Funchal at 1020
Tt then left Funchal at 1255 and retumed to Lisbon.

The retum joumey took 15 minutes more.

‘What fime did the plane arrive in Lisbon?

Answer

2
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An equilateral triangle has sides of length 16.1 cm, correct to the nearest millimetre.

Find the lower and upper bounds of the perimeter of the triangle.

Answer Lower bound = m

Upper bound = cm [2]
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Find the equation of the line passing through the points (0, ~1) and (3. 5.

Answer 31
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11 students are asked if they like rugby (%) and if they like football (%)
The Venn diagram shows the results

(@) Astudent is chosen at random.

‘What s the probability that the student likes rugby and football?

Answer(a)

(b) On the Venn diagram shade the region R’ F"

n
n
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@

Findy when x=2.
Give your answer correct to 4 decimal places.

Answer(a) y

2
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() Reamange y=1/8+% to make x the subject

Answer(b) x= “
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» =1

r+2? =5
P23 =14
PR =30
Paeyegs = ar b 2
Work out the values of a and b.
Answer(b) a=

16
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Find the value of 2x+ for the simulfancous equations.

3x+sy=48
2-y=19

Answer 2x+y= “
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The sum of the prime numbers less than § is equal o 17.

(@) Find the sum of the prime numbers less than 21

Answer(a) 21
(b) The sum of the prime numbers less than x is 58.

Find an integer value for x.

Answer(b) x = @
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‘Wite as a single fraction in ifs simplest form.

Answer “
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(@ Solve 3n+23<n+41

Answer(a) @

() Factorise completely ab+ bc +ad + cd.

Answer(b) @
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One January day in Munich, the temperature at noon was 3°C.
At midnight the temperature was ~8°C.

‘Wite down the difference between these two temperafures.

Answer °c
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Use a calculator to find

@ V5%

cosd0°

® —

Answer(a)

Answer(b)

n

n
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Write (27x2) in its simplest form

Answer @
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The mass, 7, of a sphere varies directly with the cube of its radivs, 7.
60 when r=2.

Find m when 7 =5.

Answerm= 1]
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)=+ 23 x#0 W=3-5

Find

@ fo(18).

Answer(a) 21
®) g7)

Answer(®) () = @








